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26 最下行 ⑶　(23)2 = … = 23× 2 = 36 ⑶　(23)2 = … = 23× 2 = 26

27 第 1表中
センチの倍数 10−2 102
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20 3行目 cos θ = X
√R2 + XL

2
cos θ = XL

√R2 + XL
2

26 最下行 ⑶　(23)2 = … = 23× 2 = 36 ⑶　(23)2 = … = 23× 2 = 26

27 第 1表中
センチの倍数 10−2 102

31 下から
5行目 ②　極板面積は， ②　極板距離は，

58 練習問題 2
（参考）

E1 − E3 = R1I1 + R3(I1 + I3)
E2 − E3 = R2I2 + R3(I1 + I3)

E1 − E3 = R1I1 + R3(I1 + I2)
E2 − E3 = R2I2 + R3(I1 + I2)

85 練習問題 1 次の三角形の値を求めなさい．次の三角関数の値を求めなさい．

90 練習問題 2
4行目 i1 = 20 sin(ωt + π

3 ) 〔A〕 i2 = 20 sin(ωt + π
3 ) 〔A〕

136 下から
5行目 = (−1 + j0)= −10 = 10(−1 + j0)= −10


